Aluminium multiplier KM710 series

KM7105

KM7107

KM7108

Spare parts:

No. Description Quantity No. Description Quantity
1 Nut M8 6 15 Gasket 4
2 Cover 1 16 QOil drain plug 3/8” 2
3 Sealing ring $45X62X8 1 17 Socket cap screw M8 X 35 6
4 Bearing type 6009 2 18 QOil level plug 3/8” 1
5 Bearing type 6010 2 19 QOil filling cap 3/8” 1
6 Peg 6X 12 2 20 Cap DIN 470 ¢37 1
7 Gasket 1 21 Pinion gear 1
8 Male/male 1 3/8” DIN 9611 1 22 Snap ring UNI 7435-50 1
9 Female/female 1 3/8” DIN 9611 1 23 Ring 1
10 Female/male 1 3/8” DIN 9611 1 24 Spring 1
11 Snap ring dia.50 1 25 Spring ring 1
12 Ring gear 1 26 Ball 3
13 Sealing ring $50X 65X 8 1 27 Female/male 1 3/8” DIN 9611 + tightening 1
14 Housing 1 28 Key 12X 25 1

Technical sheet:
Input torque Output torque Input speed .. . Output speed Power Weight
P (Nm)q p(Nm) 9 F:r/miF;) Transmission ratio (r:/mi:) (Kw) (Kgg)
380 260 540 1.5 810 20 9.7
430 210 540 2 1080 20 9.7
460 180 540 2.5 1350 20 9.7
490 160 540 3 1620 20 9.7
460 130 540 3.5 1836 20 9.7
437 115 540 3.8 2052 20 9.7




Aluminium multiplier KM710 series

Three views:

ol drain plug _ 892351 _ , 216[8.50]
4[0.16] :
oil level plug - e
S P — | . H e 8 2
S, il EE ]
g2 5 SF
| PTO. ] 3| g
= § Side |
g ] i/\ /f:: :‘l
8 N == z ? / g Pump o t.18{dept 071)
e 5) s s KM7105 2 |sde W
vl — g &
N4 M10 ‘ w ] /1
t..16.5(dept 0.65) 7508 tuLdept031) 6.5[0.26] il filling cap /
98 [3.36] 65 [2.56)
PT.O. Mounting positions
ASAE 1"3/8 76 DIN9611A o
ASAE 1"3/8 26 DIN9611A ' . ASAE 1"3/8 26 DIN9611A -
gla [ TS alﬁ
—.| 381 ' '
[1.50]
70
[2.76] A
549 SLL s -
e L [932&]“ i [9326?4] [2.01] ma | kol i
. J [6.98] | ?"};‘f\
) 77—\
5 6 { (©}
- NE

ASAE 1"3/8 26 DIN9611A
ASAE 1"3/8 Z6 DIN9611A —  ASAE1"3/876 DIN9611A B

L T .
| | x
— }_ Eﬂ:-qg
w81 || T L 381 7 I 381
[150] . (150] 8 | [150]
e L 1]~ T 9s
70 ) [3.64] 2.76] 17— 70
276] 276] C
g | | as i
(382 3.64] [3.64] -
7 8
LT
N\




Aluminium multiplier KM710 series

How to order:

KM 710 = x| [*] [ *

Flange
| KM = Speed increaser (aluminium body) Ii qrmitst:; gu[glﬁplsﬂti?l?sl;%ige 28
W = SAE A (96100) - see page 35
— Cori ]
| 710 = Series | Mounting positions
A/B/C/D
P.T.O. Transmission ratio
5= Female/Male 1” 3/8 DIN 9611 S
6 = Female/Female 1” 3/8 DIN 9611 3=1:25
4=1:3.0
7 = Male/Male 1" 3/8 DIN 9611 5=1:3.5
8 = Female/Male 1” 3/8 DIN 9611 + tightening 6=1:3.8

For example: KM7105-4AT



Aluminium multiplier KM710 series

KM7109

KM71011

KM71024

Spare parts:

]
|
@
No. Description Quantity No. Description Quantity
1 Nut M8 6 12 Sealing ring $50X 65X 8 1
2 Cover 1 13 Housing 1
3 Sealing ring $45X62X8 1 14 Gasket 4
4 Bearing type 6009 2 15 Qil drain plug 3/8” 2
5 Bearing type 6010 2 16 Socket cap screw M8 X 35 6
6 Peg 6X12 2 17 Oil level plug 3/8” 1
7 Gasket 1 18 Qil filling cap 3/8” 1
8 Female/female 1 3/8” DIN 9611 short 1 19 Cap DIN 470 ¢37 1
9 Female/male 1 3/8” DIN 9611 short 1 20 Pinion gear 1
10 Snap ring dia.50 1 21 Key 12X 25 1
11 Ring gear 1 22 Male 50X 45 724 DIN 5482 + male 1 3/8” DIN 9611 1
Technical sheet:
Input torque Output torque Input speed .. . Output speed Power Weight

P (Nm)q p(Nm) 9 F:r/miF;) Transmission ratio (r:/mi:) (Kw) (Kgg)
380 260 540 1.5 810 20 9.7

430 210 540 2 1080 20 9.7

460 180 540 2.5 1350 20 9.7

490 160 540 3 1620 20 9.7

460 130 540 3.5 1836 20 9.7

437 115 540 3.8 2052 20 9.7




Aluminium multiplier KM710 series

Three views:

o 216 [8.50)
oil drain plug 89.2(3.51
KM71024
4]0.16) D
oil level plug éﬁi’ i
.‘ i
g il -z g
PTO. g &
Side
£ - I
g 5 NaMR
ﬁ g Pump [T\ t.u.18(dept 0.71)
- g side oI
N°4 M10 i M | % 4€_L/ ;
10.16.5(dept 0.5) o tu13ept 051) 67[0.26] ol filinga
98[3.86] L 65(256] |
PT.O. Mounting positions
e TERT i)
m5s 0 g T
[3.051] [2.76) ug fé%a
05 1 S5
() I — [150] N
T A
ASAE 1"3/8 26 DIN9611A B
ASAE 1'3/8 26 DIN9611A ASAE 1"3/8 26 DIN9611A
9 11 B
92.5 :%“h.c-
- - \ J
817 %5 . - '> }
3.22] BT - g S =
5 | 381
(L77] )

g

[i2igs
[RR1L3

==
§ g 50x45 224 DIN 5482
gs

ASAE 1"3/8 Z6 DIN9611A

24




Aluminium multiplier KM710 series

How to order:

KM 710 L Il B B R I

Flange
y . . Omit for pumps GR.3/GR.2
| KM = Speed increaser (aluminium body) }7 T = SAE B (96101) - see page 28
W = SAE A (96100) - see page 35
— Cpri |
| 710 = Series J Mounting positions
A/B/C/D
P.T.O. Transmission ratio
9= Female/Female 1” 3/8 DIN 9611 short o 13
11=Female/Male 1" 3/8 DIN 9611 short 3=1:25
4=1:30
24= Male 50x45 Z 24 DIN 5482 + 5=1:35
Male 1” 3/8 DIN 9611 b=l

For example: KM71024-3AT





